
Converting Ounces and Pounds (C)
Convert the mass units in the problems below.

_____ tons = 12,000 pounds _____ tons = 21,500 pounds

= _____ pounds _____ tons = 34,500 pounds

_____ tons = 20,250 pounds _____ tons = 29,750 pounds

_____ tons = 33,000 pounds = _____ pounds

= _____ pounds = _____ pounds

_____ tons = 30,000 pounds = _____ pounds

_____ tons = 18,500 pounds = _____ pounds

_____ tons = 10,000 pounds _____ tons = 15,000 pounds

= _____ pounds = _____ pounds

= _____ pounds = _____ pounds
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13 ⅛ tons

5 ⅞ tons

19 ¼ tons 18 ⅞ tons

10  tons

3  tons

12 ⅜ tons 5 ¼ tons

17  tons 19 ⅝ tons


